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Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 42

Number of Questions to be attempted : 42

Section Marks : 100

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 5521311275
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 55213114514 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Main purpose of giving home work 1s that the students
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Options :

Remain busy at home.

s08 53 36° WP sorTRE
55213157001.

Study at home.

208 58 SO S0
55213157002.

Their progress can be enhanced.
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Develop the habit of self study:.

%Lhcri, ©LraHE eIt DosrohoSERE
55213157004.

Question Number : 2 Question Id : 55213114515 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

From the list given below 1dentify the leamer characteristics which would least facilitate teach-
mng-learning system to become effective.
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Options :
Prior experience of learner

@“‘n"*’ 0N 118 S0
55213157005.

1

Leamer's famuly lineage

OFPIHHR Henom FEIGT THE0
55213157006.

Aptitude of the learner

PR Jfre TP
55213157007.

Learner's stage of development

OIFRRN R BY
55213157008.



Question Number : 3 Question Id : 55213114516 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

On the basts of summative tests, a teacher 1s mterpreting students, performance m terms of their
wellness life style evident m behaviour. This will be called:
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Options :

Contmuous and comprehensive evaluation

¥elel-IoR AT [ REvbbilapgel=thle

552131570009.

Normn - referenced testing

Daree el E:Lﬁ
55213157010.

Criterion - referenced testing

Ceﬁw BT - 0POHE 80N
55213157011.

Formative testing

Er=ses HEF
55213157012.

Question Number : 4 Question Id : 55213114517 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



A teacher shall inculcate social and moral values among students effectively by
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Options :

Delivering lectures on values

Lenew e,-.*""'ﬂ“wc' ““*r::‘io

55213157013.
Showing TV programmes
8. D. 5"’5“ ;w:':'ﬂﬂ Sevireletalale)
55213157014.
Involving students actively in co-curricular activities
Do J;ars; SEESrE rrideEnesh Iabto
55213157015.
Observing religious festivals
SDHNBEIR Dothrien xdhdio
55213157016.

Question Number : 5 Question Id : 55213114518 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Which of the following doesn't belong to key behaviour in effective teaching?
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Options :
55213157017.



Instructing students to copy from black board
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Instructional variety
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55213157018.

Questioning

DosStio
55213157019.

Using student ideas and contribution

Do &SI 0 IO DAEFNoSEo
55213157020.

Question Number : 6 Question Id : 55213114519 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following research types focuses on addressmg an immediate problematic situation”
& 8ol & $0 e 850 ) s‘iéa’a:ﬁs $ode D08 BB,
Options :
Applied Research

508 HoSBES
i

55213157021.

Action Reserach

55213157022.



Experimental Research

BRFrES B0TES
55213157023.

Fundamental Research

BES DI
55213157024.

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

2
5521311276

Yes

Question Number : 7 Question Id : 55213114520 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following doesn't affect research ethics?
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Options :

Faulty research design

EPH ot Don KOS Sors
55213157025.

Choice of sampling techmique

2SI DYS woBs
55213157026.

55213157027.
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Reporting of research findings

HOSFE Do JTDoSto

Inaccurate application of statistical techniques
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Sub-Section Number : 3
Sub-Section Id : 5521311277
Question Shuffling Allowed : Yes

Question Number : 8 Question Id : 55213114521 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following, reporting format 1s formally prescribed?
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Options :

Doctoral Ievel thesis
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55213157029.

Master level thesis
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Post-graduate level dissertation
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55213157031.
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All the above

e
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Question Number : 9 Question Id : 55213114522 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following 1s an initial mandatory requirement to begin research?

DOFEID |FrBodosmRs SDTR0P S0othrr SFINRE 07

Options :

Developing a research design

HOSES S Srfrodiosto
55213157033.

Formulating a research question

05 G (HE Erdrofiodto
55213157034.

Deciding about the data analysis procedure

Szpod DFRee (BB Erdrotiostio
55213157035.

Formulating a research hypothesis

HOTER BoBY)He 0ot
55213157036.

Question Number : 10 Question Id : 55213114523 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following statements 15 true i the context of the testing of a hypothesis?
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Options :
Only the alternative hypothesis can be tested.
webRaS 205gKeh SrEh B§ouhay)
55213157037.
Only the null hypothesis can be tested.
e HOZORPORD SrED HEZ0SD5D)
o (=¥} Cov
55213157038.
Both. the alternative and the null hypotheses can be tested.
0l I83 Hodn S HoseFot BEFoWH
55213157039.
Both. the alternative and the null hypotheses cannot be tested.
so8IHS HOAL Py BoseFOD HEZ0SBIW.
55213157040. - &
Sub-Section Number : 4
Sub-Section Id : 5521311278
Question Shuffling Allowed : No

Question Id : 55213114524 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : Yes

Question Numbers : (11 to 15)

Question Label : Comprehension



This episode took place in August 1950. The Cold War was in its early stages. with the two
superpowers in eyeball-to-eyeball confrontation that threatened nuclear catastrophe. The People’s
Republic of China. which had just emerged from a bloody civil war and was seen at the time as the
Soviets’ closest ally. was prevented from taking its permanent seat in the UNSC because of
Aanerican opposition premised on Cold War logic. Furthermore. war was raging in the Korean
penminsula. with U.S. and allied troops locked 1n fierce combat with North Korean forces supported
by China and the Soviet Union.
Nehru was trying to carve a policy that ensured India’s security, strategic autonomy and state-led
industrialization in these very dangerous times. He was well aware of the tact that pushing China
out, as the U.S. wished to do. was a recipe for perpetual conflict that could engulfall of Asia. To
him. the Korean War appeared a forerunner to more such conflagrations in Asia that could even
turm nuclear. The U.S. had dropped nuclear boimbs on Japan only five years ago and many observers
believed it would not hesitate to do so again in an Asian conflict, especially since nuclear deterrence
had not yvet become a recognized reality. Nehiu did not want India to get embroiled in hazardous
Cold War conflicts and become a pawn in the superpowers’ great game risking its owmn security.
Nehru’s approach to China was dictated by real politic and not wishful thinking. He understood
that peace could not be assured in Asia without acconumnodating a potential great power like China
and providing it with its proper place in the intermational system. Moreover, China was India’s
next-door neighbour and it was essential for New Delhi to keep relations with China on an even
keel and not fall prey to the urgings of outside powers. the U.S. foremost aimong them. which were

following their own agendas that had nothing to do with Indian security interests.
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Sub questions

Question Number : 11 Question Id : 55213114525 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

According to the above passage. which one of the following lines is correct?
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Options :



Nehru tried to elude the Cold War clash to show his identity and become a pawn in the political
SUpIEMAcY gane.
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Nehrunever tried India to get mnvolved m treacherous Cold War fight because of fear of War.

ot gabo e I Apisr P68 $F 06° SR $0otd.
55213157042. =

Nehm's endeavor is to become closer with US as 1t 1s the superpower in the World and he did not
want to disturb the big counties in Cold War clash.
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Nehrunever desired India to get misky Cold War clash and become a puppet among the counties
who fight for a supremacy position.
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Question Number : 12 Question Id : 55213114526 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

The paragraph suggests that Jawaharlal Nahm was a
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Options :
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Smmer
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Great politician
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55213157046.

Cowardice

D08
55213157047.

Good policy maker

s0od) Pre BRHEE
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Question Number : 13 Question Id : 55213114527 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

The Cold War was a period of geopolitical tension between

S8 T FIFeS Q58 oo

Options:
The Soviet Union with 1ts satellite states and London after World War IT

Botés (Do dnio &Tmd ©otid H0RE Oy AN CrdADR TR &R gk H0RS
55213157049. S @ S

The People’s Republic of China with its satellite states and the United States after the First World War

55213157050.

55213157051.



The Soviet Union with its satellite states and the United States after World War IT
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The People’s Republic of Chma and Japan with other countries and Soviet Union after World War IT
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55213157052.

Question Number : 14 Question Id : 55213114528 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The United States detonated two nuclear weapons over the Japanese cities of Hiroshima and
Nagasaki n

20T Wl SIS e S0k e Both O ANCPORD Saehodod.

Options :

1943
55213157053.

1944
55213157054.

1945
55213157055.

1946
55213157056.

Question Number : 15 Question Id : 55213114529 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

Nehm favoured over India for permanent membership in the UN Security Council,
UN ¢ft5ee sootsDe? &8 g 80 Wduasnft\ TR0 TR o= ) NdBoTS.
Options :
11,8,
©DCse Sodns oelgpen
55213157057.
Chma
e
55213157058.
Soviet Union
DA CrddhR
55213157059.
Korea
Syelovr
55213157060.
Sub-Section Number : 5
Sub-Section Id : 5521311279
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 55213114530 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Communication always takes place within

55008 ES Qgd)te 23%rHe0s
Options :
Two persons
2R e D
55213157061.
A context
2.5 Bot%oE®
55213157062. i
External only
(IO SRS
55213157063.
Internal only
Eoépér::rw?ﬂ
55213157064. '

Question Number : 17 Question Id : 55213114531 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Any effective classroom conumunication must be

SEHBHOE® & BDEHoSTS S ISR S0,
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Options:
Syllabus centric

=]

2end Solorre
55213157065.



Student centric

XrGoél Soorr

55213157066.
Classroom centric
=085 Solore
55213157067.
Culture centric
%o 8 Sogorr
55213157068.

Question Number : 18 Question Id : 55213114532 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of these is not mandatory for effective communication?

o
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Options

Understanding

oo ToSSKo
552131570609. '

Politeness

ST S
55213157070.

Listening

Do
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Ambiguty

Lofiis
55213157072. o

Question Number : 19 Question Id : 55213114533 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following is correct?

800 >&S° D& JBIL?

Options :
All gestures can have same meanings in same cultures.
Domen oy $od Wed’ ot ool DA Ssotrow.
55213157073. = e i 5
All the gestures can’t have different meanings in different cultures.
Sogen o Bo¥) Hed® &8 el 500 S0k,
55213157074. -
Some gestures can have different meanings mn different cultures.
Q) Kogen DY) Kok j@eod® Tt eped DN sotran.
= bl bt .
55213157075.
Some gestures can have same meanings in different cultures.
Q) Bogen HIF) oK) Hed® o oress SDN sotrow.
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Question Number : 20 Question Id : 55213114534 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following :
& B0l & 2858508 ¢

List-I List-II
=ee-1 =im-11
1. WhatsApp a. Mark Zuckerberg
el ess om0 5008
™ = ¢}
2. Google b. Sundar Pichai
rorred ool Doedh
3. Twitter ¢. Jan Koum
&re8 PN Ton
4. Facebook d. Jack Patrick Dorsey
o] =8 F@S &°6)
Codes:
6y
Options :
1-d. 2-b. 3-a. 4-c
55213157077.
1-a. 2-b. 3-d. 4-c
55213157078.
-c. 2-b. 3-d. 4-
55213157079, 1 270- 3-d. 4-a
1.b. 2-a. 3-c. 4-d
55213157080.
Sub-Section Number : 6
Sub-Section Id : 5521311280
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 55213114535 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Two taps ‘A" and ‘B’ can fill a tank 1n 20 and 30 minutes respectively. There is an
outlet °C”, If all the 3 pipes are opened, the tank will be filled in 24 minutes. The
time taken for *C" alone to empty the full tank 15 ( m minutes)
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Options:

22
55213157081.

24
55213157082.

25
55213157083.

28
55213157084.

Question Number : 22 Question Id : 55213114536 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Geetha will reach her office 15 minutes late by walking at 4 km per hour from her
house. The next day she increases her speed by 2 kmph and reaches in time. Then
the distance from her house to office 1s ( in km)
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Options :

3
55213157085.

4
55213157086.

D
55213157087.

6
55213157088.

Question Number : 23 Question Id : 55213114537 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

23. The price of 60 articles 15 Rs. 20 each. 20 articles were sold at Rs. 24 each. To get
an overall profit of Rs. 5 per article. the price of the remaining articles be sold is.
60 S0 O e 2883 e 20 . 20 SWHen (e 2883 Er. 24 THpd
B0, 198 2.8 &r. 5, €730 SPodERE DAOY SNHeN 2.538) TR
9020900 OO

Options :

55213157089.



24.5
55213157090.

255
55213157091.

28.5
55213157092.

Question Number : 24 Question Id : 55213114538 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The average weight of 40 ttems 15 15 gm. When the weight of the basket s added
to the weight of balls. the average increased by 0.5 gm. Then the weight (in gm) of
the basket 15

40 Qo)
SB0oDSH P DED 05 M DEHHR0E. @3y 28 Tod) 28 ([FsHeS)

Options:

15

55213157093.

55213157094.



55213157095.

40
55213157096.

Question Number : 25 Question Id : 55213114539 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Missing group of letters in the following sequence 1s

nt l"'E' ] (=) W, W -
808 15006 S oD @5 T HaXTT0

QYCD: PXEF, . NVI1I], MUKL
Options :
JPRI
55213157097.
QBBIJ
55213157098.
RRMY
55213157099.
OVGH
55213157100.

Question Number : 26 Question Id : 55213114540 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The following venn diagram represents the number of persons who know different

languages. Then the total number of persons is

800 30 D0, DG 27100 BOVS SO NOD2D APDN0D. @I P NS0

}
-

22500 00§

Options :

18425
55213157101.

18481
55213157102.

18721
55213157103.

18656
55213157104.

Question Number : 27 Question Id : 55213114541 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The missing number 1n the sequence: 36, 31, 29, 24, 22, 17. 15,
D50 SHodd Howe 36, 31,29, 24,22, 17, 15,

Options :

13
55213157105.

12
55213157106.

11
55213157107.

10
55213157108.

Question Number : 28 Question Id : 55213114542 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If ‘P + Q" means ‘P 1s the father of Q", ‘P # Q" means ‘P 1s the brother of Q"; ‘P -Q°

means ‘P 15 the mother of Q”, then which of the following 15 true about Ax B-C+D
'P+Q' O P Q8 #od ;' PxQ @0 'P' Q) TE) AFODC; P-Q OST P Q’
B8 3O . Iy Ax B - C +D§ [Bod 85 A Ao

Options :

B is the son of A

B, A 3% §%%
552131571009.

A 1s the uncle of C

A, C QBng) 2reron / aFen
55213157110.



B is the father of A

B. A Gw¥) $old
55213157111.

C 1s the mother of B
C. B 3B, &6
55213157112.

Question Number : 29 Question Id : 55213114543 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Statements: The average number of persons per household 15 5 m urban areas
whereas 1t 1s 7 in rural areas. The national average s 6.

TS0 ([P Posed Hfiend 25208 7508, AT oz Hien 5
500 &) &. 2 e 6.

Conclusions; I The population per unit area in the rural areas 15 higher than in the
urban areas.
S0A0:L 98 [Foare $oT) [P (Foad 1 AHFNE 2T ST &0

II. The average number of persons per household in the rural areas is less
than the urban areas.
I [P Froeee fyTo Gng) Sede Miien do9; H8m Froee &)

b T A
@é‘u;;o.‘.ﬁ‘ @08

Options :

both I and IT are true

SNVleleV 2udd
55213157113, L0000 I &&p

I 1s true and IT 1s false

I 2dp 06k O &5
55213157114. 7 Y



I 1s false and II 1s true

[y NOCID IT ey
55213157115.

both I and IT are false
Ivéoy é@a
55213157116.

Question Number : 30 Question Id : 55213114544 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

M 1s brother of N. O is the father of M. P 1s brother of Q, and Q 1s daughter of N. the
relation from M to Q 1s

M, N Q%) Fd%ch; 0, MO, Sod P, Q3% &Sk SnBCk Q N T3E),
502070, M D0G Q5 do20do

Options :
Mother
55213157117.
Father
08
55213157118. ey
Uncle
o L ) R B
552131571109.
Grandson
o) e ey Cad

55213157120.



Sub-Section Number : 7
Sub-Section Id : 5521311281

Question Shuffling Allowed : No

Question Id : 55213114545 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : Yes

Question Numbers : (31 to 35)

Question Label : Comprehension



Note: The questions Q. 31 to Q. 35 are based on the following information.

Ha: (349200 Q31 b0 Q.35 SO, 808 Narardo edormr &) Q.

The total Profit and Expenditure incurred (in lakhs) by a company during the financial
years 2013-19 1s presented in the following graph. Assume that in each financial year,
Income = Profit + Expenditure

2013-19 880% H038 TS 502d IS0 erzren HBAD Py (OFOS) &

506 BrdssnS 3052800, 198 808 H0s81808, S0 = erdo + 55000

ook,
a5 s Prfil === Expenditure
)
40 38 ! 37 P
30
30 35
25 28
27
20 o
‘ YO -ul
15 18 \12/ 19
10
5
0
201314 201415 201516 201617  2017-18  2018-19
Profit & Expenditure of a Firm

Sub questions

Question Number : 31 Question Id : 55213114546 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes



Correct Marks : 2 Wrong Marks : 0

The total Income in the financial year 2016-17 (in lakhs) is
2016-17 e30¥ 0053506 JSBO 70RO (O F )

Options :

30
55213157121.

40
55213157122.

28
55213157123.

16
55213157124,

Question Number : 32 Question Id : 55213114547 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

In the year 2014-15. the percentage of expenditure incurred over the mcome 1s
2014-15 Q0N TNE, &Tr000D I Yo ) TS0 __

Options :

28.75
55213157125.

36.25
55213157126.

28.64

55213157127.



38.46
55213157128.

Question Number : 33 Question Id : 55213114548 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

The percentage of profit increased m 2015-16 when compared with 2013-14 1s

2013-14 & FOV, 201516 ¢S erdio____ 7eh0 DOA0HO.
Options :
12.0
55213157129.
28.57
55213157130.
40.0
55213157131.
32.35
55213157132.

Question Number : 34 Question Id : 55213114549 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0



In the six financial vears, total percentage of expenditure in the income 1s
; b — a o ¥
&3t @08 D00 TY | JNB0 BIIFON0R Bl )0 DA ) T°ed0

Options :

38.22
55213157133.

61.78
55213157134,

61.86
55213157135.

28.75
55213157136.

Question Number : 35 Question Id : 55213114550 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

In 2017-18. the total profit (in lakhs) 1s

- - = = - ol
2017-1865 D[S0 ero (@ F )

Options :
20
55213157137.
55213157138,
19

55213157139.



18

55213157140.

Sub-Section Number : 8
Sub-Section Id : 5521311282
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 55213114551 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Who mvented the high level language “C™?

83 A O S0 d5H?
Options :
Denmis M. Ritchie
R ahd o)
55213157141.
Niklaus Writh
Qe DG
55213157142.
Seymour Papert
arD 500
55213157143.

Donald Kunth

a‘mg %o
55213157144.



Question Number : 37 Question Id : 55213114552 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

‘Which of the following 1s a serial bus

i, = £ = B S gl al l.l—-:
8ol =EE° D& VO 2R

Options :
55213157145. L

ISA
55213157146.

USB
55213157147.

GPIB
55213157148.

Question Number : 38 Question Id : 55213114553 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

What does the acronym POP stand for?

PoP &=C &30
Options :

Post Ofticed Protocol
B gof

D sHRE |@fisd
55213157149. =

¥



Post Office Protocol

ai=d o, = £ s=B
PR VIR FED

55213157150.
Post Oftficial Protocol
BT odhdchd DP=S
55213157151. S
Postal Office Protocol
LS ehn @‘E'é.fﬂﬁ
2 .
55213157152.

Question Number : 39 Question Id : 55213114554 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

FTP stands for
FTP o

Options :

File transport protocol

S 58 (PeFsE
55213157153. = VTS S

File transfer protocol

1:"6-
a?ﬂ

6 (2555 DS S

55213157154.

File transit protocol

55213157155.



File tracking protocol

¢ tr30R @S
55213157156.

Question Number : 40 Question Id : 55213114555 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following 1s UGC mutiated network of university libraries

UGC Zntien ES 420700 (forre ACI8), &2 Bod =ES° 207

Options :

mnflibnet
55213157157.

infonet
55213157158.

ermet
55213157159.

mdonet
55213157160.
Sub-Section Number : 9
Sub-Section Id : 5521311283
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 55213114556 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

An annual event that is observed on July 11® of every year is

28 JodF %o 278 113 2B ED 08 o8 Babaw

Options :
World Environment Day
BD0S Hotte R0
55213157161.
World Forest Conservation Day
BDHoS e Sobger L
55213157162.
World Population Day
(BN amrgre LHdam
55213157163.
World Food Security Day
DD0S e35BY E5e DI
55213157164.

Question Number : 42 Question Id : 55213114557 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The largest wind farm of the world 1s

IV (BBOIYH mOIFID SoEiEm

Options :

Mancelona Wind Farm
SN mORPIDH Solism

55213157165.



Ganso Wind Farm

NS mOrrh SolEsan
55213157166.

King Mountain Wind Ranch

3oh STo8R md Tron
55213157167.

Jagur Creek Wind Farm

P8 (85 mOFrrH SolBsm
55213157168.

Question Number : 43 Question Id : 55213114558 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s chief pollutant of Bhadra river in Karnataka ?

Srs6°0 Ylorsh Senhiprdd (Hors seendy o880 & (Bod =8¢ da?
= o = ]
Options :

Indraprastha power station effluent

BOlGHD HH8 DETH0d DHGSeDr Sends B
55213157169. 9 = 2

DDT from pesticide industry

1880 HoFEEE BB ood) D tﬁ@:cﬁ:; DDT
55213157170.

Paper and pulp from Paper Industry

NS HOFD Sood Doy RS0 0ok ey
55213157171.



Fly ash and jute from jute industry

2235 T8 HOES o8 JHGeTr N0 e, esddw
55213157172. =

Question Number : 44 Question Id : 55213114559 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following do not support soil erosion ?

& 8ol TRS° HB WSS FED S°)Kck?

[

Options :

Over grazing

©8MT o0
55213157173.

Shifting cultivation

oz SPBRRE D Dabéo
55213157174.

Forestation

@iagen DoHe
55213157175.

Faulty cultivation practices

SPhzirong Ferd Dden

y g [

55213157176.

Question Number : 45 Question Id : 55213114560 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Which is a baseless beliefregarding HIV transmission?

B0l =Q&° HIV {(EnDd egrdo ©
1 A

mo
1 Infected blood

06 P83 850
m.  HIV contaminated needles

HIV 3 Senhifo 308
iv. Mosquito

&

e

o
Options :

11
55213157177.

11 and 11
55213157178.
552131571709.
55213157180, 1andiv

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

b !
[

NRNSED &7

10
5521311284

Yes

Question Number : 46 Question Id : 55213114561 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Indira Gandhi National Open University (IGNOU) was established in the year

S0NTrPos eéas 88 & duredho (IGNOU) ~r20dy $od8)8o

Options :

November 1986

Haond - 1986
55213157181.

September 1985

'FJT';'&O::E - 1985
55213157182.

December 1987

&moob - 1987
55213157183.

December 1988

=momnG - 1988

55213157184,

Question Number : 47 Question Id : 55213114562 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following is Not a goal of hugher education in India?

el

8ol RS° EETE a8 Doy oo AR AQ?
Options :
Equuty
RerNgro

55213157185.



Relevance

TEWEO
55213157186. =
Compulsory and free education
o8 &8 Iy
55213157187.
Value based Education
Denaw ogrld A
55213157188.

Question Number : 48 Question Id : 55213114563 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Value Education stands for

DY et = endy VR i )
TR A VD mg{’ir\ﬁ__:'ﬁu;

L&)

Options :
Making students follow customs and traditions of the society
TS ol FoFETdrod dThen 00N D0E
552131571809.
Enhancing student employability
Do TEHNS %ﬂéaq_:;aa 2osroliodtio
55213157190. :

Inculcating virtues and culture to students

“m’tfgz'aﬂu 00y [odnsHR Em;éga:éﬁ penlsto

55213157191.



Making students to understand religious values

a8 JOoDOGIN VLIS LTHE) VIMPPR DrEDED

geb ) SCI0E
55213157192.

FaL
L

Question Number : 49 Question Id : 55213114564 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The grounds on which discrimimation in admission to educational institutions constitutionally not
prohibited is

APRoRE (3508 KonoGod TremorIsIN ago 89 eodo,

o

Options

Religion

vz lo)
55213157193.

Sex

oo
55213157194,

Place of birth

55213157195. =

55213157196.



Question Number : 50 Question Id : 55213114565 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Sam Pitroda served as:

= ‘o -
-

] ~ = W T B
Thew Al @ SRS SRJRTH

Options :
UGC Chamrman
DL ITEAPY TPEPY V00 BTN
55213157197.
NKC Chairman
- >, "
& TBE D050 efirEen
55213157198, N
Director—NCTE
PED T T Dold ©FiHen
55213157199.
Chairman—NCERT
S Do 0T BZe B0 ofen
55213157200. :
CHEMICAL SCIENCES
Group Number : 2
Group Id : 552131192
Group Maximum Duration : 120

Group Minimum Duration: 120



Show Attended Group?: No

Edit Attended Group?: No

Break time: 0

Group Marks : 200

Is this Group for Examiner?: No

Examiner permission : Cant View

Show Progress Bar?: No
CHEMICAL SCIENCES

SectionId : 552131192

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 100

Number of Questions to be attempted : 100

Section Marks : 200

Enable Mark as Answered Mark for Review and

Clear Response: Yes

Maximum Instruction Time: 0

Sub-Section Number : 1

Sub-Section Id : 5521311285

Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 55213114566 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which electron configuration among the following has highest number of microstates?



Options :

di
55213157201.

d°
55213157202.

dﬁ
55213157203.

d?

55213157204.

Question Number : 52 Question Id : 55213114567 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Rhizobrum present i the root modules of legummous plants convert nitrogen mto

Options :

55213157205, Ammonia

55213157206, |\itrates

55213157207, |Niifes

55213157208, LWfric oxide

Question Number : 53 Question Id : 55213114568 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which one among the following is known as Zeise’s salt?

Options :

55213157200, 1~ LEH(C2HA)CL]
55213157210, TLE ((C2H4) CIICL
55213157211, L0 (C2HCL]
55213157212, LhIC2HACD]

Question Number : 54 Question Id : 55213114569 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Arrange the following complexes in the increasing order of their conductance values.

[Co (NH3)s]Cls. [Pt(NH3)]Cla. [Pt (NH3)sC1]Cls. K[Pt(NH3)Cls]
Options :
5513157213, [Co (NH3)6]Cl3< [Pt{NH3)6]Cls< [Pt (NH3)sC1]Cl3<K[Pt(NH3)Cls]

Pt(NH3)s]CLi<[Co (NH3)s]Cli<[Pt (NH3)sCIICL<K[Pt(NH;3)Cls
55213157214.[ (NH3)s]Cla=<[Co (NH3)s]CLs=<[Pt (NH3)sC1]Cls=K[Pt(NH3)Cls]

Co (I Cl3<Pt (NH3)sC1]CL3<K[Pt(NH;3)Cl5]<[Pt(NH;3)s]Cl:
55213157215, A0 EEE)e|Clr=ReNEa IO PHNER) Gl TR Il



c5213157216.  LF UNH3)CLs]<[Co (NH3)6]Cls=<Pt (NHs)sCl Cls<[Pt(NH3)6]Cla

Question Number : 55 Question Id : 55213114570 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The Complex which exists as square-anti prismatic structure is

Options :

[TaFs]*
55213157217.

.14

55213157218, L £1Fs]

To(CN)1F
55213157219, [MO(CN)s]

Z1(Cr04)41+
55213157220, 200N

Question Number : 56 Question Id : 55213114571 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The lanthanide 1ons known as NMR Shift reagents are
L Prt 2.Ev’" 3.Tb™
Options :

.
55213157227, | And2



N
55213157222, L2 and3

55213157223, 2 and 3

55213157224, Land3

Question Number : 57 Question Id : 55213114572 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Assertion (A): [Co(CN)sI]* is more stable than [Co(CNY I

Reason (R): Iodide 1s a soft base where as fluoride 1s a hard base. The five cyanide 1ons

have made the Co®" in the complex much softer than an isolated Co®*

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

Assertion (A) 1s correct and R is the correct explanation of A
55213157225.

Assertion (A) 1s correct and R 1s NOT the correct explanation of A
55213157226.

Assertion (A) is correct and R 1s NOT correct
55213157227.

55213157228, Assertion (A) 1s NOT correct and R 1s correct



Question Number : 58 Question Id : 55213114573 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Identify the wrong statement among the following

Options :

/ . ; - ?\C' : > E y } ar e . e
55913157220, All bonds between Ni and C in [Ni(CO)4] are not equivalent

Metal carbonyl complexes are belongs to organometallic compounds
55213157230. -

Fe3(CO)12 contains three bridged carbonyls
55213157231.
5913157932, Mn does not form mononuclear carbonyls

Question Number : 59 Question Id : 55213114574 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which one is colourless compound among the following?
Options :

55213157233, " 004

55213157234, VD5



MNasVOy
55213157235.

[V(H20)6]S04.H20
55213157236.

Question Number : 60 Question Id : 55213114575 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match List-I (Complexes) with List-IT (CFSE values) and select the correct answer using

the code given below the Lists

List-1 List-1I
L. [ColNH)]” 2 20Dg2P
2. [Cr( NH;)] b. 24 Dg-2P
3. [Fe(CN)s] -
4 [l d. 12Dq
Code:
Options :
l-a-‘ E-d: S'b: -l--C
55213157237.
o e B s
55213157238, 174 2°C; 3-b. 4-d
1-b, 2-c, 3-a, 4-d
55213157239.
1-b, 2-d, 3-a. 4-c

55213157240.



Question Number : 61 Question Id : 55213114576 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which one is the correct increasing order of acidity of hydrogen halides?

Options:
55213157241, D — HCl<HBr<HI
HI < HBr < HCl < HF
55213157242.
HF < HBr < HI < HCI
55213157243.

55213157244, HF = HI<HBr < HCI

Question Number : 62 Question Id : 55213114577 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s the correct sequence for the processes occurring in a mass spectrometer?

Options:

WVapourization. ionization, acceleration. deflection
55213157245.

Vapourization . acceleration. ionization. deflection
55213157246, ' F =2

[onization. deflection. acceleration. vapourization
55213157247. = P



55213157248, Vapourization. deflection. 1onization. accelatation

Question Number : 63 Question Id : 55213114578 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
The metals present in Cytochrome-C are
Options :
55213157249, Feand Zn

55213157250, v and Zn

55213157251, E¢ and Cu

Fe and Mn
55213157252.

Question Number : 64 Question Id : 55213114579 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The osmium cluster Osg(CO)1g Py has a total valance electron count of 86. Wade's rule

predicts an octahedral structure. However, its observed structure 1s different. What is the

structure of the compound?
Options:

Pentagonal bi pyramid
55213157253. - -



Edge caped Trigonal b1 pyramid

55213157254.

Monocaped Suare pyramid
55213157255.

Edge caped tetrahedron
55213157256. -

Question Number : 65 Question Id : 55213114580 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following analytical methods would you choose to investigate whether a

compound is a monomer. dimer or trimer?

Options :
55213157257, EoIMS
Infra-red spectroscopy
55213157258.
55213157259, R
55213157260. ol

Question Number : 66 Question Id : 55213114581 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



To compare the electronic absorption spectra of three won(II) complexes. you want to

combine the three spectra in one plot. Then you should plot:

Options :

Absorbance against wave number
55213157261. =
55913157262, Absorbance against wave length
55913157263, Extinction coefficient against wavelength
55713157264, EXtinction coefficient against concentration

Question Number : 67 Question Id : 55213114582 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The functional group region and fingerprint region of an IR spectrum are respectively
Options :

/ R | - St | & i " %
55213157265, 4000 cm 1500 cmr* and 1500 cm 660 cm

55213157266, 4000 em™ - 2500 em™ and 2500 em™ - 1500 em™

ol e T 1
55213157267 4000 cm™ - 3000 cmy and 3000 em - 2000 cm

4000 emt - 1500 em?! and 1500 em™ - 250 em?
55213157268.



Question Number : 68 Question Id : 55213114583 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The common coordination numbers of f-block elements are
Options :

55213157269, O and 7

55213157270, Sand9

55213157271, > and 6

55213157272, + and 6

Question Number : 69 Question Id : 55213114584 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
At a certain instant, a piece of radioactive material contains 10 atoms. The half-life of

material 1s 0. 693 seconds. Calculate the number of disintegrations in the first second

Options :
1012 atoms
55213157273.
10° atoms
55213157274.

24 _
55213157275, 10" atoms



S .
55213157276. 107 atoms

Question Number : 70 Question Id : 55213114585 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Assertion (A): In a given principal quantum number. the penetrating effect decreases in

the order: s>p=>d=>1{

Reason (R): The s-electron penetrates closer to the nucleus and hence is held less tightly
compared to p. d or f electron
Options :

55213157277, Assertion (A) 1s correct and R 1s the correct explanation of A

Assertion (A) is correct and R 1s NOT the correct explanation of A
55213157278.

Assertion (A) 1s correct and R 1s NOT correct
55213157279.

55213157280. Assertion (A) 1s NOT correct and R 1s correct

Question Number : 71 Question Id : 55213114586 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Which compound among the following is 1n octahedral structure and sqare-pyramidal

shape?

Options :

55213157281, ~~eI6

55213157282, ~or

55213157283, L5
TeCls

55213157284,

Question Number : 72 Question Id : 55213114587 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Acetamide 1s a weak base in aqueous solution. However. it shows acidic
property m liquid ammeonia

Reason (R): Liquid ammonia has a strong tendency to pick up protons from neutral or
weakely basic substances

Options :

55213157285, Assertion (A) 1s correct and R 1s the correct explanation of A

55213157286, Assertion (A) 1s correct and R 1s NOT the correct explanation of A
Assertion (A) is correc is N s

55213157287, Assertion (A) 1s correct and R 1s NOT correct

Assertion (A) 1s NOT correct and R 1s correct
55213157288.



Question Number : 73 Question Id : 55213114588 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following compound contains P-H bond?

Options :

HiPOy4
55213157289.
55213157290, 1130 O3
55213157291, L4F207
55213157292, T3

Question Number : 74 Question Id : 55213114589 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Which of the follwing has the capability to form complex compound and also possesses

oxidizing and reducing property?
Options :

55213157293, 11NO3

55213157294, HNO2



55213157295, HCOOH

55213157296, TICN

Question Number : 75 Question Id : 55213114590 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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:I_| . .
A Mossbauer nucleus *'Fe makes the transition from the excited state of energy 14.4 x

10° eV to the ground state. What is its recoil energy?

Options:

55213157297, 47X 103 eV
55213157208, 193 X107V
55213157200, 390X 107 eV
55213157300, 107 X 10° eV

Question Number : 76 Question Id : 55213114591 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Number of vibrations observed for water molecule 1s 3. Out of which how many are IR

active and how many are Raman active?



Options :

2 are IR active and 1 1s Raman active
55213157301.

55213157302, 1 15 IR active and 2 are Raman active

All 3 are IR. and Raman active
55213157303.

55213157304, All 3 are IR active but not Raman active

Question Number : 77 Question Id : 55213114592 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Assertion (A): The energy vield in fusion reaction is about four times more compared to
that in fission reaction

Reason (R): In fusion reaction neutron 1s released

Options :

Assertion (A) is correct and R 1s the correct explanation of A
55213157305.

55913157306 Assertion (A) 1s correct and R 1s NOT the correct explanation of A

Assertion (A) 1s correct and R 1s NOT correct
55213157307.

Assertion (A) 1s NOT correct and R 1s correct
55213157308.

Question Number : 78 Question Id : 55213114593 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

What is the shift of the resonance from TMS of a group of nuclei with 6 = 3.50 and an

operating frequency of 350 MHz

Options :
'j- =
55213157309, O- 62 KHZ
- I
55213157310, 123 KHz
.q o
55213157311, 0-35 KHZ

55213157312, 2-46 kHz

Question Number : 79 Question Id : 55213114594 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Which complex among the following has spin forbidden transitions?

Options :
[Co(NH3)s]>
55213157313.
55213157314, LCUNH3)4]"
[Mn(H20)g]**

55213157315.



55213157316, LF S020)6l”

Question Number : 80 Question Id : 55213114595 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Which one among the following 1s unsuitable as a carrier gas for Gas Liquid

Chromatography?

Options :
55213157317, N2
H>
55213157318.
55213157319, “*

55213157320. -

Question Number : 81 Question Id : 55213114596 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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How many peaks are appeared for bis-salicylaldiamine-Cu(II) complex in its ESR

spectrum?
Options :

55213157321, -



55213157322.

9
55213157323.

55213157324. i

Question Number : 82 Question Id : 55213114597 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Using the 18-electron rule, calculate the n  value for the complex

[EBr(CO)o(PPhs)(CHa)]

Options :

55213157325. !
55213157326. ~
55213157327, °

55213157328, 2810

Question Number : 83 Question Id : 55213114598 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Arrange the following metal carbonyls in the decreasing order of their back donation
capacity

[C£(CO)g]. [Ti(CO)].[Mn(CO)]". [V(CO)g]

Options :

Cr(CO)s] = [Ti(CO)6]*= [Mn(CO)s] = [V(CO)s]
55213157329. [Cx(CO)6] = [T1(CO)s]™= [Mn(CO)s] ™= [V(CO)q]

55213157330, LTUCO)I> [V(CO)s]> [Mn(CO)6] > [C1(CO)e]

1(% I ' = . = ; .
c5713157331. LEeO)el > [VICO)s] > [CHEO)K] > [Mn(CON]

55913157332, LCI(CO)6] = [Mn(CO)e]™> [Ti(CO)6]*> [V(CO)6]

Question Number : 84 Question Id : 55213114599 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Provide IUPAC Name for the given structural formula:

CHs
ch“ffﬂ
CHx I
g? LI:H c CH
Mo c T~cH T~

/ "

CH4 HiC
Options :

3-Ethyl-5.6.7-trimethyloctane
55213157333.

cc013157334. 2 Methyl-5.6.8-triethyl-7-nonane



o B -1 5 6- 177 r :
55213157335, = Methyl-4.5.6-trimethylnonane

3-Ethyl-4.5.6-trimethyloctane
55213157336. [

Question Number : 85 Question Id : 55213114600 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Predict the Configuration

HO, HsC

-
]
-
-

Options :

55213157337, R and "R

55213157338, O and “S”

55213157339, 2R’ and “387

55213157340, 25 and “3R”

Question Number : 86 Question Id : 55213114601 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Identify the photochemical conversion

Options :

55213157341, Paterno-Buchi Reaction

Norrish Reaction
55213157342.

Wittiz Reaction
55213157343. =

55213157344, D17 Methane Reaction

Question Number : 87 Question Id : 55213114602 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Define Excited state of molecular oxygen

Options :
55213157345, L1IPlet
55213157346, Singlet

Singlet and Triplet
55213157347. -



55213157348, Semi Singlet

Question Number : 88 Question Id : 55213114603 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Predict the Intermediate

Cl NH,
[::j: + NaNH,—= |Intermediate [::]/
H

Options :

Carbanion
55213157349,

55213157350. Carbocation

55213157351, 2 tterion

Benzyne
55213157352.

Question Number : 89 Question Id : 55213114604 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Predict the Product

Q = Q Na in liquid NHy _ (000~




Options :

55213157353, lKene

cis-Alkene
55213157354,

552131573565. trans-Alkene

Acetylene Compound
55213157356.

Question Number : 90 Question Id : 55213114605 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Predict the Selective Product

Ph-CHO
9 l
<O O 18-Crown-6
CF,

Options :
55213157357, Methylester
55213157358, E-Methylcinnamate
55213157359. Cimnnamic acid

Z-Methvlcinnamate
55213157360. '



Question Number : 91 Question Id : 55213114606 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Indicate Photoreduction Product/Products

Ph hv

e . |PRODUCT/
Ph>: isoPropanol PRODUCTS
Options:
Benzhydrol
55213157361.

Benzhydrol and Benzpinacol

55213157362.
Diphenylethanol
55213157363.
55913157364, Benzhydrol and Diphenylethanol

Question Number : 92 Question Id : 55213114607 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Identify the Intermediate

KDC(ME)?,
Brch - INTERMEDIATE




Options :

55213157365. Radical Cation

55213157366, Radical Anion

55213157367, Zwitterion

55213157368, - A10Sne

Question Number : 93 Question Id : 55213114608 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Identify the Chiral Carbon

s h LIMONENE
Options:
55213157369, Carbond

L
55213157370, CArPon 2

55213157371, Caroon

Carbon 6
55213157372.

Question Number : 94 Question Id : 55213114609 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Resonance Energy of Benzene is Derived from

Options :

55213157373, Heat of Oxidation
55213157374 Heat of Radical addition
55213157375, [ieat of Hydrogenation
55213157376, Heat of Rearrangement

Question Number : 95 Question Id : 55213114610 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Identify Buckyball Formula

Options:
55213157377, €40
C60

55213157378.

55213157379, €30

55213157380, C100
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Select 2-Butanone Preparation

Options :
££913157381 HexvIMgBr reacts with Acetaldehyde and then Oxidation
PropylMgBr reacts with Acetaldehyde and then Reduction
55213157382.
EthylMgBr reacts with Butyraldehyde and then Oxidation
55213157383. . - a
EthylMgBr reacts with Acetaldehyde and then Oxidation
55213157384.

Question Number : 97 Question Id : 55213114612 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Predict the Triplebond Frequency in IR Spectrum:
Options :

£ _ 2 = |
55213157385, ~=00 — 3600 cm

¥ |
55213157386, 1020 — 1680 cm

4 S b -1
55213157387, ~000— 2300 cm



N s -1
55213157388, 1000 — 1200 cm
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UV-Visible absorption spectrum is represented as:

Options:
c£213157380. X" Coordinate and “Y"” Coordinate as Wavelength (nm)

“X" Coordinate as Wavelength and Y™ Coordinate as molar absorption coefficient
55213157390.

“X" Coordinate as Wavelength and Y™ Coordinate as wavenumber
55213157391. N

“X"” Coordinate as Wavelength and Y™ Coordinate as transition
55213157392.

Question Number : 99 Question Id : 55213114614 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Predict H-NMR for 1.3.5-Trimethylbenzene
Options :

55213157303, 1 WO Singlets



One Singlet and One Triplet

55213157394.
55213157305, Sunglet. Doublet and Triplet
55213157396, Doublet of Doublet and Triplet
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How many structural formulae written (based on H-nmr and C-nmr) for RIBOSE present
m water?
Options :

55213157397, One Cyclic and Two open chain structures

One Open chain and Three Cyclic structures
55213157398. )

55213157390, One Open chain and Four Cyclic structures

55913157400. Two Open Chain and Two Cyclic structures
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Identify Name Reaction

hv .0
—_ C
RJ\(HLR Acelonitrile R)kf — RMH*‘&

N, R R R
KETENE

Options:

55213157401, *imadori

Wittiz
55213157402. &

55213157403, COI€Y

55213157404, "W Ol
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Identify Name Reaction

_ =

(R + o~
o n 5, ~COOEt

Options :

55213157405, Redmore

Michaelis-Arbuzav
55213157406.



55213157407, Sommlet

55213157408, Perkin
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Identify Name Reaction

Ph. _H O-gi”
Y+ TN
O
Options :

55213157409. Pauson-Khand

55213157410, CAavie

55213157411, | Sariman

55213157412, Faterno-Buchi

/
O-Si—

%
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What 1s the arrow stands for?

[ > HOAA\_/CDDH

OH
Mevalonic acid

OH

0 "0
Mevalona lactone

Options :

Radical Initiated Synthesis
55213157413.
55213157414, 1 reparation
55213157415, Letro-synthesis
55213157416. Photochemical Preparation
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Predict the transition state of Malonic acid decarboxylation

Options :
Six membered ring
55213157417. =
Five membered ring
55213157418. =

55213157419. Four membered ring



55213157420. Seven membered ring
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Identify intermediate involved

Intermediate] —_— = }:D
,.-‘
%

Br

:/\‘:0 + NaOH + Br, —

Options :

55213157421, “rleohol

557131574 Enolate

55213157423, Dienol

55213157424, L henol
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Predict the regio-selectivity of Mono Alkylation

9 9 2 Base _—
H#J\KM\HD‘;% 25 4’-5%\3§i4\0ﬁ‘ —_—
Options :
e o
55213157425, Carbon -2
55213157426, Carbon -3
55213157427. Carbon -1
55213157428, Carbon -4
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Indicate Medicinal Property of Paracetamol

Options :

Reduces Fever
55213157429.
55213157430. Reduces Pain
55213157431, Reduces Pain and Fever

55213157432, Antibacterial
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Indicate Aspirin’s role
Options:

55913157433, Inhibits Prostaglandin Biosynthesis

55213157434, Inhibits Alkaloid Biosynthesis

55213157435, Inhibits Vitamin Biosynthesis

Inhibits Steroidal Biosvnthesis
55213157436. =
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Inform the property of Carbon Nanotubes

Options :
55913157437, Metallic Property
cc01315743g, ~dhesion Property

55213157430, 110V Property



Electrical Property
55213157440.
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Identify Chiral Compound

Org oOe (o ()

2 ¢ 3.cis “" 3.trans

Options :

55213157441, One

55213157442, LWO

Three-frans
55213157443.

Three-cis
55213157444,
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Identify Catalyst Emploved for Resolution of Racemic Mixture

Options :
55213157445, Copperchromite

55213157446, Scdiumhydroxide

55213157447, Zincacetate

Lipase or Eaterase
55213157448.
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Identify the Correct Expression

A _
H,C=CH, + 1120, —oeoe—n Hng/CHz

Options :

Preparation of Ethanol
55213157449.

55213157450. Non Catalytic Reaction

Environmentally Benign Production
55213157451.

55213157452, Cxplosive Reaction
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Indicate the Heterocyclic Moiety Present in Histidine
Options:
Pyrrole

55213157453.

55213157454, OXazole

55213157455, Lyrazole

55213157456, idazole
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Indicate TWO Heterocyclic Rings Present in Nicotine

Options :
55213157457 Pyrrole and Furan
55213157458, Oxazole and Thiophene

Pvridine and Pvrrole
55213157459, & b



55213157460, ndole and Pyridine
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Indicate Heterocycle isolated from Tea Leaves and has Medicinal Property

Options :

Theobromine
55213157461.

55213157462, Curine

Pvrimidine
55213157463. =

55213157464, Guanine
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Indicate Chemical responsible for making Vitamin D upon exposure to Sun Light

Options:

55213157465, COrtisol



55213157466, Lanosterol

55213157467, Cholic acid

7-Dehvdrocholesterol
55213157468.
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A L/'I A 3 . A A
If A= and B=x".thenfind[A.B]
dx
Options :
55213157469, !
3
55213157470.
3
55213157471.
3x
55213157472.
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A particle of mass ‘m’ is confined in a two dimensional box having lengths ‘a’ and ‘2a’.
What 1s 1ts ground state energy?

Options :

5

i1

55213157473, +ma’

5h?

D
55213157474, 52

st
324

2
55213157475, na

55213157476.
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The Hamiltonian for He atom under perturbation theory is given by

A A A
H=H(o)+H'
A A
where H' is the first order perturbation. H' in atomic units is given by
Options :
A 1 :
H=--V]
2

55213157477.



TR RS v Tl
2 . 7
55213157478. 2
j\r 1
Hf =
¥,
552131574709. =
A
H'=r,
55213157480. .
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The ground state energy (Evar) of a particle of mass “m” present in one dimensional box

of length “a” cm 1s estimated by variation method using a trial wave function,

53

. . - . L. :
w(x) = x{a-x). If the true ground state energy of particle is — then Eysr will be
ma-

Options :

_0.56h°

var ] 2
55213157481. e

-

h*
E'\.'ﬁf = o %
l6ma-
55213157482.

-

B J1~
8.096ma’

wvar

55213157483.



1.0127°

. — -
Smra”

Vel
55213157484.
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The ground state term symbols of two elements X and Y are P2 and *P respectively. The
elements X and Y are respectively
Options :

55213157485. e

55213157486, O N

55213157487.

55213157488.
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Identify the correct statements from the following.

(i). The term symbol for excited state of H atom is “P3p.

(11). w(x) = a (1)a (2) is an antisymmetric wave function

(iil). The total number of miocrostates for pj configuration 1s 15
Options :

1,11, 111
55213157489.

55213157490, 1- 11

55213157491, 1.1

55213157492, 1
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What 15 the valence bond wave function of HX which 1s 75 % covalent and 25 % 1onic?
Assume that HX 1s formed by the overlap of 1s of H and 2p; of X.
Options :
75 3 5 ‘ 25 Yyt 2)

55913157494, 0.866[on(1)dx(2) + ¢u(2)dx(1)] + 0.5[dx(1)dx(2)]

55213157495, O oLOx(1)éx(2)] + 0.25[6n(1)dx(2) + ¢u(2)éx(1))



0.866[dx(1)dx(2)] + 0.5[dm(1dx(2) + dm(2)dx(1
55213157496. [¢x(1)ox(2)] [0u(1)x(2) + ¢u(2)ex(1))
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The delocalization energy of cyclopropenyl cation. cyclopropenyl radical and

cyclopropenyl anion are respectively (B = exchange integral)

Options :

=206 -
55213157497. 2B, -B, 0

-B. -2B. 0

55213157498.

=2 2y
55213157499. 2.90.-2p

2B -2
55213157500. 2. -2p. 0
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Identify the correct statements from the following
(1). H20 belongs to Abelian group and NH3 belongs to Non-Abelian group
(i1). HCO belongs to Non-Abelian group and CHCI; belongs to Abelian group

(1i1). The point group of benzene is Dgy



Options :

55213157501, 1+ 11

1, 1i1
55213157502.

1. 11, 111
55213157503.

55213157504, 1i. 1ii
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The character table of C3y point group is given below. along with additional reducible

representation. I'.

C_h.' E :{:? 3@1,
Ay 1 1 |
Ay 1 1 -1
E 2 0
T 12 0 2
I 1s given by

Options:

55213157505, <1 T A2 T4E

55213157506, o1 T 2A2T4E

55213157507, 41 TA2T3E

2A1+3A2+3E
55213157508.
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Which one of the following molecules possess S4 symmetry element?
Options :
55213157509, ©

CH;Cl
55213157510.

55213157511, CH20

55213157512, C 02
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The stretching vibration of 10'H is 3300 e, What will be the stretching vibration (in

cm') of ®0%H?
Options :

55213157513, 2300

55213157514, 2401



55213157515, 4221

55213157516, =00
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The ratio of nuclear g factors of 'H and PC is 3.978. If 'H resonates at frequency 100
MHz for a given magnetic field, what will be the frequency (in MHz) at the same
magnetic field?
Options :

55213157517, 100

55213157518.

55213157519, 327-8

55213157520, |07
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The correct order of Amax of ethylene (a). 1.3.5-hexatriene (b) and 1.3-butadiene (c) 1s

Options:



55213157521, 0~ a°¢

55213157522, €~ 8~

55213157523.

55213157524.
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The rotational spectrum of a diatomic molecule gave a series of lines at 25.3, 29.5, 33.7,

37.9.42.1 el What is the rotational constant (B) in em™ of the molecule?
Options:

55213157525, +2

33:7
55213157526.
2:1
55213157527.
g
55213157528. L
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The phase diagram of a compound 1s shown below (b = pressure; a = temperature)

b g

The slopes of lines OA. AB and AC are x, y and z respectively. The compound melting
point 1s 300 K and AV 1s 7 What 1s its AH i kJ mol™?

Options :

L]

55213157529.

55213157530, U

55213157531.

3
55213157532. aHe
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Identify the correct statements from the following
(1) The work done is reversible 1sothermal expansion from Vi to V; litres of an 1deal
gas is 11':—13?.1”11E
I
(1)  Mass is an extensive property and density is an intensive property
(1) In an adiabatic process. the temperature of the system remams constant during
each stage of the process

Options :

55213157533, 1- 1. 111

55213157534, 1. 11

55213157535, 1+ 11

11, 111
55213157536.
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Match the following

ListI List IT
1. wvariation of Cp with temperature a. Maximum work
2. Reversible expansion of gas b. AH=0
3. Joule Thomson effect ¢. extensive property
4. Specific heat d. entropy

¢. Intensive property



Options :
it O Wen o i
55213157537, 1-0- 272, 3-D, 4-¢

1-d, 2-a. 3-b. 4-¢
55213157538.

1-d. 2-a. 3-e. 4-b
55213157539.

1-b. 2-a. 3-d. 4-¢
55213157540.
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The partition function (q) for a gas i1s q = qir Qele

The gas 1s

Options:

55213157541. "~

55213157542.

55213157543.

55213157544, CH4
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At 1000 K. a system of N particles has two energy levels with g = g = 1; Ey = 50 J mol™
: i ill ol
and E2 = 58.314 T mol™, What is the ratio (—}) of number of particles i the two energy
n
1

levels? (R =8.314 T mol1 K)

Options :
o
55213157545, SXP(-107)
= -3
55213157546, SXP(107)

o
55213157547, XP(107)

exp(-107)
55213157548. P
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In a conductometric titration, NaOH is taken in a beaker and a mixture of HCI and

CH3COOH solutions is taken in a burette. The volume of mixed acid added (b) 1s plotted

on y- axis and conductance (a) on x-axis. The expected plot will be

Options:

b

R

55213157549.



b

\

55213157550.
b<
55213157551. {—————————=
b
55213157552. .
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In a typical potentiometric titration of HC1 with NaOH. the end point 1s characterized by

Options :
dE 1’E
= D
55213157553, GV dV
d?i@ fffiﬂ
55213157554, dy dv
dE d*E
—= =0
dv dV-

55213157555.



g

dEiD ;dE

55213157556, AV dv-

=0

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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For the reaction, 2AB)C—2AB; + C}. the experimentally determined rate (R) law 1s
R =K[ABy(]
The rate determining step is
Options :
55213157557, | AP rm kgt

L 3 PABY + (9
55213157558, ~-2B2C—2ABr+ (2

AB> + C—AB)C
55213157559.

55213157560, < B2C —AB2 T C
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For a first order reaction. the following equation 1s obtained
k =2x 10’ exp(-0.5)
The activation energy (in cal mol™) of the reaction is (R = 2 cal mol! K})
Options :
55213157561, = X 10°

55213157562. o

55213157563, U0

55213157564, 1-U
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]
on y-axis and

For enzyme catalyzed reaction, a plot between
Rate substrate conc.

on x-axis gave slope (m) and mtercept (c). The correct relationship between Ky

(Michaelis-Menten constant). m and ¢ is

Options :
. m
.= :
55213157565. &
V_=mc
55213157566.

55213157567.



M, =—
m
. 1
vV, =
55213157568. m.c
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Adsorption isotherm of A. B and C gases are shown below

oy |

The extent of adsorption of these gases follows the order

Options :

c>a>b
552131575609.

]_'j =a=_
55213157570.

b>c>a
55213157571.

a>b>c

55213157572.
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The following curves are obtained for a gas at different temperatures. The correct order

of temperature 1s (“a’ 1s the amount of gas adsorbed per umt mass of adsorbent)

o> pressure

Options :

Ti=Tr=<T3
55213157573.

T3<Ta<Ti
55213157574.

Ta<Ti< T3
55213157575.

TT::' T_::-c:i 1_1
55213157576.
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The separation of (1 2 3) planes of a tetragonal (¢ =bzc,a=f=y = 900) unit cell

1s 3.50 nm. The separation of (2 4 6) planes in nm 1s

Options :
55213157577, 1- 33
55213157578, L.73
75
55213157579, -5
1.25
55213157580.
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A crystal lattice exposed to (i) X-rays, (if) electron beam, (iif) neutron beam, (iv) UV- rays. separately.

Diffraction will be observed for

Options :
1. 11, 111, 1V
55213157581.
55213157582, 1+ 1 v only
i. ii. iii only
55213157583,

55213157584, 11 111 1v only
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If M and M, are number average and weight average molecular weight of a polymer
sample, then its polydispersity ndex (PDI) 1s

Options :

Tiiff
55213157585, My

fi;/f
55213157586. M

qiﬁf—ﬁfu}/’
55213157587. 2

55213157588.
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Repeated estimation of copper i an alloy gave 6. 10. 15 ppm of copper. Standard

deviation in the estimation of copper is



Options :

55213157589,
55213157500, Y 2033 PP
ss213157501, oot P
55213157592 6.5 ppmn
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Which one of the following methods is less expensive to prepare inorganic nano

materials?
Options :
Reverse micelle method
55213157593.
Surtactant assisted hvdrothermal method
55213157594, =

55213157595 sol-gel method

High temperature (above 1000 °C) ceramic method
55213157596.
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Assertion (A): The nuclear spin (I) of any element 1s zero or integer or half integer.

Reason (R): Both protons and neutron have spin of = each.

d—

The cotrect answer 1s

Options:
55913157597, Both (A) and (R) are correct and (R) is the correct explanation of (A).
Both (A) and (R) are correct but (R) is not the correct explanation of (A).
55213157598.
(R) 1s correct but (A) 1s not correct
55213157599.

(R) 1s not correct but (A) 1s correct.
55213157600.



